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0.001  0.006ppm
0.001  0.004ppm
0.005 0.031mg/m’

0.65 1.84t/km*/

0.0037
0.0084pg-TEQ/m?

0.003 0.010ppm
0.004 0.033mg/m?

2.1m/s
5.5m/s
4.2% 0.15kW/m?
0.082 kW/m?
14.0
75
50m 1000m
50m  250m 700m 850m
300m
650m 900m 1000m
50m  250m 350m 700m
850m 1000m
250m 600m
750m 800m

0.008392ppm
0.013ppm
0.000865mg/m? 0.015mg/m?
0.013ppm 0.015mg/m?
98% 0.029ppm 0.04 0.06ppm
2 0.037mg/m? 0.10mg/m?
98
® (B) (A+B) 2
ppm 0.008392 0.005 0.013 0.029 0.04 006
mg/m? 0.000865 0.014 0.015 0.037 0.10
0.000090 0.000096ppm 0.000004  0.000005mg/m?
0.005 0.007ppm 0.014mg/m’
0.005 0.007ppm 0.014mg/m’
98% 0.019 0.021ppm 0.04 0.06ppm
2% 0.037mg/m? 0.10mg/m?
98
2
276 0.000141 0.000095 0.000236 0.005 0.005 0.019 004 0.06
365 0.002375 0.000090 0.002465 0.005 0.007 0.021 ’ :
ppn 276 0.000347 0.000096 0.000443 0.005 0.005 0.020
276 0.000007 0.000005 0.000012 0.014 0.014 0.037
o/ 365 0.000110 0.000004 0.000114 0.014 0.014 0.037 0.10
9 276 0.000016 0.000005 0.000021 0.014 0.014 0.037
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1.
0.01 0.42t/km?/ t/km?/
0.66 2.04t/km?/ .
9. 0.08 131 1.39
0.38 1.66 2.04
0.42 1.14 1.56
0.35 0.87 122
0.01 161 1.62
0.02 1.52 1.54
3. 0.01 0.71 0.72
0.01 0.66 0.67
0.02 1.53 1.55
0.01 1.65 1.66 -
4 0.01 0.86 0.87
0.01 1.13 1.14
0.01 1.02 1.03
0.66 2.04t/km?*/ 0.01 135 1.36
0.01 0.65 0.66
0.01 0.74 0.75
0.01 1.8 1.29
0.66 2.04t/km*/ 20t/km*/ 0.02 1.55 1.57
0.02 1.84 1.86
0.02 0.73 0.75
1
2
1.
1
2 ® ® A)+B) :
0.00003 0.002 0.002 0.003
0.00004 0.002 0.002 0.003
400 0.00002 0.002 0.002 0.003 0.04
0.00039ppm 0.00016ppm 0.00013mg/m? 0.00039ppm 0.00132pg- ppm 0.00002 0.002 0.002 0.003
TEQ/m? 0.00039ug/m? 0.00007 0.002 0.002 0.003
oo oo | |
3 3 3 . 0.003 . .
0.014mg/m 0.001ppm 0.0079pg-TEQ/m 0.004pg/m 000002 0003 0003 oo 0.04
0.00001 0.005 0.005 o015 | 000
0.00001 0.002 0.002 0.010
\ bpm 0.00003 0.002 0.002 0.010
0.00058ppm 0.00054ppm 0.00026mg/m 0.00016 0.005 0.005 0,015
0.00001 0.014 0.014 0.035
400 0.00001 0.013 0.013 0.033
0.00039ppm 0.00132pg-TEQ/m’ 0.00039pg/m’ 0.00001 0.014 0.014 0.035 0.10
0.003ppm \ 0.00001 0.014 0.014 0.035
0.006ppm 0.014mg/m’ 0.001ppm 0.0079pg-TEQ/m? 0.004pg/m’ me/m 0.00002 0.014 0.014 0.035
0.00013 0.014 0.014 0.035
2. 0.00003 0.001 0.001
0.00004 0.001 0.001
0.00002 0.001 0.001 0.02
ppm 0.00002 0.001 0.001
0.00007 0.001 0.001
0.00039 0.001 0.001
0.00010 0.0054 0.0055
0.00014 0.0059 0.0060
2 0.00008 0.0061 0.0062 0.6
- 0.00006 0.0066 0.0067
peTEQ/m? 0.00024 0.0055 0.0057
0.00132 0.0066 0.0079
0.00003 0.004 0.004
0.00004 0.004 0.004
0.00002 0.004 0.004 0.04
pg/m? 0.00002 0.004 0.004
4. 0.00007 0.004 0.004
0.00039 0.004 0.004
1 98% 2%
0.002 0.003ppm 0.005 0.006ppm 0.014mg/m’ 2
0.001ppm 0.0079pg-TEQ/m? 0.004pg/m’
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0.6pg-TEQ/m?

2%

98%

0.001ppm

0.004pg/m?

0.003  0.004ppm
0.015 0.017ppm

0.035mg/m’

0.04ppm
0.04 0.06ppm
0.10mg/m’

0.02ppm
400m 0.0079pg-TEQ/m?

0.04pg/m?

Q) ® ®+®)
0.00009 0.002 0.002 0.003
0.00005 0.002 0.002 0.003
0.00006 0.002 0.002 0.003 0.04
0.00003 0.002 0.002 0.003
ppm 0.00009 0.002 0.002 0.003
0.00058 0.002 0.003 0.004
0.00008 0.003 0.003 0.012
0.00004 0.003 0.003 0.012 0.04
0.00008 0.005 0.005 o015 | 000
0.00004 0.002 0.002 0.010
bpm 0.00006 0.002 0.002 0.010
0.00054 0.005 0.006 0.017
0.00004 0.014 0.014 0.035
0.00002 0.013 0.013 0.033
0.00003 0.014 0.014 0.035 0.10
\ 0.00001 0.014 0.014 0.035
me/m 0.00003 0.014 0.014 0.035
0.00026 0.014 0.014 0.035
0.00003 0.001 0.001
0.00004 0.001 0.001
0.00002 0.001 0.001 0.02
ppm 0.00002 0.001 0.001
0.00007 0.001 0.001
0.00039 0.001 0.001
0.00010 0.0054 0.0055
0.00014 0.0059 0.0060
0.00008 0.0061 0.0062 0.6
\ 0.00006 0.0066 0.0067
Pe-TEQ/m 0.00024 0.0055 0.0057
0.00132 0.0066 0.0079
0.00003 0.004 0.004
0.00004 0.004 0.004
0.00002 0.004 0.004 0.04
pg/m? 0.00002 0.004 0.004
0.00007 0.004 0.004
0.00039 0.004 0.004
1 98% 2%
2
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0.008pg/m?

0.011pg-TEQ/m?

0.016ppm
0.006pg/m?

0.018ppm

0.002ppm

0.014pg-TEQ/m’

0.015pg/m’

0.024ppm

0.027ppm

0.030ppm

0.005pug/m?

0.003ppm

0.034ppm

560m

560m

0.014ppm

0.006pg/m?

240m

0.078mg/m?

0.079mg/m?

660m

0.023ppm

400m

0.015ppm

0.081mg/m?

690m

0.025ppm

0.016pg-TEQ/m’

0.023pg-TEQ/m’

0.077mg/m?

410m

0.046pg-TEQ/m?

0.003ppm

0.005ppm

0.078mg/m’

0.012ppm

*1

A B A+B

ppm 0.0021 0.0008 0.0029 0.013 0.016 0.1

ppm 0.0027 0.0031 0.0058 0.021 0.027 0.1
mg/m’ 0.0007 0.0004 0.0011 0.077 0.078 0.20

pg—TEQ/m3 0.0071 0.0071 0.0084 0.016 0.6
ppm 0.0021 0.0021 0.001 0.003 0.02
pg/m3 0.0021 0.0021 0.004 0.006 0.04

ppm 0.0044 0.0008 0.0052 0.013 0.018 0.1

ppm 0.0055 0.0033 0.0088 0.021 0.030 0.1
mg/m’ 0.0015 0.0004 0.0019 0.077 0.079 0.20

pe-TEQ/m* | 0.015 0.015 0.0084 0.023 0.6
ppm 0.0044 0.0044 0.001 0.005 0.02
pg/m? 0.0044 0.0044 0.004 0.008 0.04

ppm 0.0007 0.0002 0.0009 0.013 0.014 0.1

ppm 0.0009 0.0009 0.0018 0.021 0.023 0.1
mg/m3 0.0002 0.0001 0.0003 0.077 0.077 0.20

pg—TEQ/m3 0.0023 0.0023 0.0084 0.011 0.6
ppm 0.0007 0.0007 0.001 0.002 0.02
ug/m’ 0.0007 0.0007 0.004 0.005 0.04

ppm 0.0017 0.0005 0.0022 0.013 0.015 0.1

ppm 0.0021 0.0021 0.0042 0.021 0.025 0.1
mg/m’ 0.0006 0.0002 0.0008 0.077 0.078 0.20

pe-TEQ/m* | 0.0055 0.0055 0.0084 0.014 0.6
ppm 0.0017 0.0017 0.001 0.003 0.02
pg/m? 0.0017 0.0017 0.004 0.006 0.04

ppm 0.0114 0.0000 0.0114 0.013 0.024 0.1

ppm 0.0131 0.0000 0.0131 0.021 0.034 0.1
mg/m3 0.0038 0.0000 0.0038 0.077 0.081 0.20

pe-TEQ/m* | 0.038 0.038 0.0084 0.046 0.6
ppm 0.0114 0.0114 0.001 0.012 0.02
ug/m’ 0.0114 0.0114 0.004 0.015 0.04

12.7m/s
2.5m/s
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0.000075 0.000076ppm 0.000003mg/m’ 0.005 0.007ppm
0.014mg/m’?
0.005 0.007ppm 0.014mg/m’
98% 0.019 0.021ppm 0.04 0.06ppm
2% 0.037mg/m? 0.10mg/m?
98
2
276 0.000133 0.000076 0.000209 0.005 0.005 0.019 004 006
365 0.001541 0.000075 0.001616 0.005 0.007 0.021 Rl
ppm 276 0.000274 0.000076 0.000350 0.005 0.005 0.019
276 0.000005 0.000003 0.000008 0.014 0.014 0.037
. 365 0.000056 0.000003 0.000059 0.014 0.014 0.037 0.10
mo/m 276 0.000010 0.000003 0.000013 0.014 0.014 0.037
0.020mg/m’* 0.024mg/m?
100m 350m
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48dB 38dB
47dB 36dB
1.
43dB 40dB
45dB 38dB
A. 276
65dB 54dB
63dB 52dB
B. 365
71dB 70dB
70dB 67dB
C. 276
65dB 56dB
64dB 56dB

1dB

71dB  Las 54dB  Lacg
dB
Las
71 85
71dB  Las 54dB  Lacq
dB
Laeq
/ Lnesr
71dB  Las 85dB feft
54dB  Laeg 55dB 54 43 54 55
54 45 54 55
22
6:00-22:00
65 71dB LAeq

dB

276 65 66 70 1

365 71 71 70 0 1
276 65 66 70 1
276 63 65 70 2
365 70 70 70 0 1
276 64 65 70 1
1
2 B 6:00-22:00
65 71dB 0 1 2dB
365 70dB 365 0dB
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1dB

44dB  Las 38 45dB  Lag
dB
Ls L
50
55
44
50
45
dB
Lis LAeq LAeq LAeq
43 43 55
44dB  Las 38 45dB  Lae
40 40 45
25
45 45 55
38 38 45
44dB  L,s 45 55dB B
38 45dB Ly 45 55dB
65 7ldB LAeq
dB
276 65 67 70
365 71 71 70 0
276 65 66 70
276 63 65 70
365 70 70 70 0
276 64 65 70
T B 6:00-22:00
65 71dB 0 1 2dB
365 70dB 365 0dB
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1 80Hz 50
(Lso) 91dB Lg 64dB Lg
57dB
57dB 1.
58dB 55dB
1 20Hz G 5%
(Les)
62dB 91dB Lg 64dB Lg L
60dB 1. dB
64dB 60dB
91dB Lg 64dB  Lg 92dB o o
64
G (Lo) 92dB
78dB
78dB 1.
30dB 78dB
SOdB L]O 28dB LlO
1.
LIO
25dB
25dB dB
LlO
55dB 50 75
A. 276 dB
LI(J
27dB , , Lo
25dB 50dB Ly 28dB Ly 0 "
26dB 25dB 25 25 28 55
25 25 28 55
55dB
B. 365 50dB  Lio 75dB
28dB Ly 55dB
Lio 37dB
36dB
32dB 27dB
C. 276
LIO
31dB
26dB
27dB 26dB
263 38.3Hz
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34 38dB
LlO
dB
276 29 34 5
365 38 38 0 1
276 33 35 o 2
276 26 35 60 9
365 34 35 1
34 38dB 276 32 36 4
34 38dB 60 65dB
54 55dB Ly 28dB Ly L
dB
Lio Lio
55 60
54 55
LlO
dB
54 55dB Ly 28dB Lo Lio Lio
28
28
55
54 55dB Ly 55 60dB 28
28dB Ly 55dB 28
55dB
33 38dB
Llﬂ
dB
276 29 33 4
365 38 38 0 1
276 33 35 65 2
276 27 37 60 10
365 34 35 1
276 29 34 5
1
33 38dB
33 38dB 60 65dB
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10

10
10
NOx
10
10
10 1 10 1 10 1 10 1 10 1
550 600 550 600 650 700 400 450 200 250
10 2.5 2.5
10 2.5

10

10
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1.
24 2
2m Sm 2m 12.3 2  S5m
10 0
2m
2.
3.
4.
1.
a c 8.2 30.6mg/L 0.77 1.2mg/L 0.069
d 8 10.25mg/L 0.006 0.009mg/L
110mg/L 0.004 8.253m*/s
0.53  3.0mg/L 0.052 |2.
0.73mg/L 0.003
0.012mg/L
mg/L mg/L mg/L
30.6 30.7 9 43
1.2 1.2 0.6 1.8
AA 0.25 0.25 0.07 0.38
0.006 0.005 0.003 0.006
3
3.
mg/L mg/L mg/L mg/L
4. 8.2 8.0 3 D2 25 1
0.77 0.43 0.31 0.51 13
0.069 0.070 0.048 0.10 0.2 2
0.009 0.003 0.003 0.03 !
1 AA
2
1982
3
1970

11-12



11-12

3 (AA) (€] 5
(B) 5 © 91
7 12 16
15 37 78
3 4 13
4 11 16
18 208 800
2 12 27
5 8 22 (AA)
A) 5
22 59 120 B) 3
101 ©
91
1 3
2 (AA) A) 50 (AR) 50 (A)
(AA)
115 448
2 ©
1 ©
4
55.7% - 43.4% 0.1% 59.6%
19 7 1.8%

45

16
12
(AA)

11-13



11-13

1.
)
3 (AA) (A)
®) 2 ©) 10
(AA)
(A) 1
(B) 2
© 10
ha 3
117.2 29.5 2 (AA) ® 50 (M) 50 »
28.3 7.1
2.5 0.6 60.8 -
181.0 45.5
12.8 3.2
55.8 14.0 |]2-
397.7 100.0
3.
(AA)
4.
1.
3.8km
3.4km
1km
365 No.2 No.6 No.7 365
1.0 1.0
1.8km 5.9 22
5
7 2.
3.
4.
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21,400m’

18kg/m?

24

3,500 /
1,200 /

21,400m?

500t

3,500t/

1,200t/
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4,701.7tCO, 220.5tCO, 4,922.2tCO,

21,634tCO,/ 6,366tCO,/ 28,000tCO,/
30,200 tCO,/ 20,400 tCO,/ 10,000 tCO,/ 6,900 tCO,/ -1,000 tCO,/ 7,900tCO,/
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21

41
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15

L

52

0.1
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